RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Supporting Tohono O'odham Community College FY 2000 Appropriations Request)

RESOLUTION NO. 99-122

1	WHEREAS,	the O'odham Education Department administered a Tohono O'odham
2		Nation-wide survey in 1996; and
3	WHEREAS,	as a result of the Education survey, having a local community college on
4		the Tohono O'odham Nation was one of the top priorities; and
5	WHEREAS,	there exists a need for skilled Tohono O'odham in the disciplines for
6		business, health care, law enforcement, environmental protection, science,
7		liberal and language arts, education, public policy and government; and
8	WHEREAS,	the history, culture and tradition of the Tohono O'odham is central to the
9		continued existence, sovereignty and self-determination of all Tohono
10		O'odham as O'odham and as a Nation; and
11	WHEREAS,	a college of learning, managed by and for Tohono O'odham, can best
12		serve as a center for training and research in those disciplines that may
13		define our past, present, and future, while preserving and teaching our
14		history, culture, and tradition; and
15	WHEREAS,	a committee for establishing a community college for the Tohono
16		O'odham Nation was formed to collectively pursue this endeavor; and
17	WHEREAS,	a college charter was written, presented and approved by the Tohono
18		O'odham Legislative Council on January 8, 1998, by Resolution No. 98-
19		006.
20	NOW, THER	EFORE, BE IT RESOLVED that the Tohono O'odham Legislative Council
21		supports the Tohono O'odham Community College Appropriations
22		request and hereby calls upon Congress and the White House to set

	(Supporting Tohono O'odham Community College FY 2000 Appropriations Request) Page 2 of 3
1	funding in the amount of \$18,974,796.20 for a five-year plan, for the
2	operations of the Tohono O'odham Community College.
3	BE IT FURTHER RESOLVED that the Appropriations Committee are hereby authorized
4	and directed to bring this request to the appropriate agencies, members
5	and committees of Congress.
6 7 8 9 10 11 12 13	The foregoing Resolution was passed by the Tohono O'odham Council on the 17IH. day of MARCH, 1999 at a meeting at which a quorum was present with a vote of 1,737.0 FOR; -0- AGAINST; -0- NOT VOTING; and 190.0 [06] ABSENT, pursuant to the powers vested in the Council by Section 1 (j) Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the Tohono O'Odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984). TOHONO O'ODHAM LEGISLATIVE COUNCIL
15	Den K
18	Dennis Ramon, Legislative Chairman
19	19 1/4 day of March 19 99
20	77 day or 7/2 19 19 11
21 22	ATTEST:
23 23 25	Kennin Sen for
26	Julianna Saraficio, Acting Legislative Secretary
27	17th day of March 19 99.
28 29	17 day of _7. (a)
30	Said Resolution was submitted for approval to the office of the Chairman of the Tohono
31	O'Odham Nation on the 19th day of March 19 99
32	at 8:34 o'clock, A.M., pursuant to the provisions of Section 5 of Article VII of the
33	Constitution and will become effective upon his approval or upon his failure to either
34	approve or disapprove it within 48 hours of submittal.
35	
36	TOHONO O'ODHAM LEGISLATIVE COUNCIL
37	
38	Ne Kan
39	Dennis Ramon, Legislative Chairman

	RESOLUTION NO. <u>99-122</u> (Supporting Tohono O'odham Community College FY 2000 Appropriations Request) Page 3 of 3
1 2	APPROVED on the 19 day of March 1999
3 4	[] DISAPPROVED at 9:46 o'clock, A.M.
5	
6	Henry a Ramon
7	EDWARD D. MANUEL, Chairman
8	TOHONO O'ODHAM NATION
9	
10	
11 12	Returned to the Legislative Secretary on the day of
13	\mathcal{M}_{\bullet} , \mathcal{M}_{\bullet}
14	March , 19 99 , at 10:11 o'clock, A.M.
15 16	Remse M Jan for
17	Julianna Saraficio, Acting Legislative Secretary
18	
19	
20	
21	
22	
23	
24	
25 26	
27	
28	
29	
30	
31	
32	
33	
34	
35	
36 37	
31	

ACTION: SUPPORTING TOHONO O'ODHAM COMMUNITY COLLEGE FY 2000 APPROPRIATIONS REQUEST

MOVED: COUNCILWOMAN FRANCES ANTONE

SECOND: COUNCILMAN JOSEPH JUAN

DATE: MARCH 17, 1999

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
CHUKUT KUK 189.0	1. DAVID GARCIA (Marvin Thomas)	94.5	Х			
	2. KENNETH WILLIAMS (Arnold F. Smith Sr.)	94.5	x			
HICKIWAN 146.0	1. ALEX JOSE	73.0	x			
	2. LLOYD FRANCISCO (Susan Sam)	73.0	x			
GU VO 142.0	FERN SALCIDO (Larry Montana)	71.0	x			X
	2. GLORIA MONTANA (Phillip Antone)	71.0	X			
SAN LUCY 114.0	1. JOHN RENO (Mary Hoffman)	57.0	х			X
114.0	ALBERT MANUEL, JR. (Jana Montana)	57.0	x			
PISINEMO 139.0	1. BARBARA SALVICIO	69.5	x			
133.0	2. JOHNSON JOSE ()	69.5	x			
GU ACHI	1. LOUIS JOHNSON	95.0				x
190.0	2. ALEX J. RAMON ()	95.0				x
BABOQUIVARI	FRANCES MIGUEL ()	129.0	x			
258.0	2. FRANCES G. ANTONE (Edward N. Kisto)	129.0	х			
SAN XAVIER 146.0	1. TONY BURRELL	73.0	x			x
140.0	2. DENNIS RAMON ()	73.0	X			
SCHUK TOAK	1. JOSEPH JUAN	60.0	x			
120.0	2. AMBROSE ENCINAS ()	60.0	x			
SELLS	1. DENNIS E. JOSE	161.0	х			
322.0	2. EVELYN JUAN ()	161.0	x			
SIF OIDAK	1. RITA MARTINEZ	80.5	Х			X
161.0	(Maxine Norris) 2. MARY ANN ANTONE (Darlene Andrew)	80.5	х			
T	TOTAL		1,737.0	-0-	-0-	190.0 [06]